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SECTION 1 (16 questions, 0.2 mark each)

Choose the correct answer A, B, C or D. (3.2 marks — 0.2 each)

Which word is the head of the noun phrase “the nuclear scientist from Germany”?
A. scientist

B. Germany

C. nuclear scientist

D. nuclear

ANSWER: A

The syntactic function of the underlined phrase “Who wants to come is who is really
interested in the tOPIC.” iS vevvuvenennnnn.

A. subject complement
B. predicator

C. indirect object

D. object complement

ANSWER: A



Which of the following words has more than three morphemes?
A. deactivated

B. unbreakable

C. rechargeable

D. empowered

ANSWER: A

Which is a headless compound?
A. bigwig

B. overactive

C. fireplace

D. blackboard

ANSWER: A

Which one is the derivational paradigm of the word ‘live’?
A. lively, livelihood, liven, unlive

B. lives, living, lively, livens

C. livelihood, liven, lives, unlive

D. living, livelihood, livens, lives

ANSWER: A

Which word is a C-FB?
A. automobile

B. carnal

C. climate

D. supervise
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ANSWER: A

Which sentence has a non-finite clause?
A. My advice is to reschedule the plan.

B. He seems in the money.

C. I hoped that he would win the first prize.
D. Tom left as | arrived.

ANSWER: A

Which is a complex sentence?

A. That he won the first prize surprised everyone.
B. It’s time to get up or you’ll be late for school.
C. The flight to New York took 16 hours.

D. He said he loved me, but I didn’t believe him.

ANSWER: A

How many lexical morphemes are there in the sentence: *"He got angry with the
baby.""

A. three
B. one
C. four
D. two

ANSWER: A

Which word is a C-BB?
A. transfer

B. festive



C. purist
D. nowadays

ANSWER: A

Which sentence has a dependent clause?
A. When he will come back is not certain yet.

B. Actually, she failed the driving test.

C. Sharon’s car had broken down, and this astonished the mechanic.

D. The weather drives me crazy.

ANSWER: A

The kind of pre-modifier occurring in adjective phrases is a(n)..........

A. adverb

B. preposition
C. noun

D. verb

ANSWER: A

Which phrase contains a restricter (Restric)?
A. quite a few people

B. completely new version

C. what a lovely view

D. a quite unexpected ending

ANSWER: A

The clauses in a sentence hold equal status.

A. compound
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B. simple
C. complex
D. embedded
ANSWER: A

Which of the following phrases has at least two possible meanings due to structural
ambiguity?

A. killed a girl with an umbrella
B. shot the rabbit with a gun
C. sent two emails to my friend
D. read him a bedtime story

ANSWER: A

Which of the following phrases is an adjective phrase?
A. so grateful for your help

B. much evening enjoyment

C. immediately feel guilty

D. the man responsible for the laboratory

ANSWER: A

SECTION 2

IC TREE DIAGRAM (8 questions, 2.4 marks — 0.3 each)



What is each numbered space best replaced with?

1
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| | |
a spacious room with all the modem facilities

A. 1:NP; 2: PP; 3: N’; 4: PRE-DET

B. 1: NP; 2: AdvP; 3: NP; 4: DET

C.1: AP; 2: PP; 3: N’; 4: QA

D. 1: AP; 2: AdvP; 3: NP; 4: PRE-DET

ANSWER: A

What is each numbered space best replaced with?
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greatly surprised = at  the Iatest news

A. 1: AP: 2: AdvP; 3: Adv; 4: NP
B. 1: AdvP; 2: AdvP; 3: AP; 4: N’
C.1: AP; 2: AP; 3: Adv; 4: NP

D. 1: NP; 2: NP; 3: AP; 4: N’

ANSWER: A
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What is each numbered space best replaced with?

N

VP3 AP3 3
PP
~
Verp P/ NP2
¥V A %
DET2 N"2
I I N
4 AP4 “‘Iz
l l HeadN2
|

got  angry  with John's strange behavior

A. 1: VP; 2: AP; 3: AdvP; 4. PossPropN
B. 1: AP; 2: AP; 3: AdvP; 4: PossCommN
C. 1: VP; 2: AdvP; 3: AP; 4: PossPro

D. 1: AP; 2: AdvP; 3: AP; 4: PossPro
ANSWER: A

What is each numbered space best replaced with?
2 3
NP2 4 / \
/ \ | VP2 NP4
PP
DETI NI / "\ / \
P NPQ
/

. . DET3 N2
o) 4 i / \
7~ [
ART HeadN1 ALT T i ‘ APS N3
; ART
ModNI N2 A HeadN3
| NI HeadN2 L | l |

The boy inthe sleeping bag . is reading a comic book
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A.1:S; 2: NP; 3: VP; 4: AP
B.1:S; 2: VP; 3: NP; 4: AdvP
C.1:S’;2: NP; 3: Vgrp; 4: AP
D. 1: NP; 2: NP; 3: VP; 4: AdvP
ANSWER: A

What is each numbered space best replaced with?

S3

S

N /’>\

NPI 2 NP3
Y | p
VP2 AdvP VP4 !
7N
Prol Verpl adv Pro2 | NP
J Vv grp?_ head A P
I |
You should return quickly or you willbe late for the meeting

A.1:S; 2: VP; 3: AP; 4: AdvP
B.1:S’;2: VP; 3: NP; 4: AdvP
C.1:S’;2: AP; 3: AdvP; 4: AP
D. 1:S; 2: AP; 3: NP; 4: AP
ANSWER: A
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What is each numbered space best replaced with?

S
Sy Co;\i 1
/'/\ H T —
hlpa /2 e = E TP‘ A
PropN  Vgrp A i PropN Vgrp hT
[trans] ' [trans]

ite clause| - PRO
i
e :

John Sald ¢ he wou[d come back but James didn't believe him

A.1:S; 2: VP; 3: NP
B.1:S’: 2: AP; 3: AdvP
C.1:S’; 22VP; 3: S

D. 1: NP; 2: S’; 3: AdvP
ANSWER: A

What is each numbered space best replaced with?

,,,/Sl\.

VP2 AdvP
VP3 NP2 )
PropN X COMP/ \4
DET N’ N
/ N NP3 VP4
N
| AL N
VP5 |
Verpl 3 AP2 Prol ' NP
| HeadN Vgrp2
A 2%
— [
I have known that ambitious woman since I ° was a teenager

A.1:VP; 2:S’;3: DEM; 4: S

B.1:S;2:S’;3: DEM; 4: S
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C.1:VP;2:S;3: N; 4: S’
D.1:S’;2:S;3: DEM; 4: S’

ANSWER: A

What is each numbered space best replaced with?

S1

l/ \z
/N

™\ s VP2 NP4
‘OMP o
comp 3
NP2 / + \.-\d\‘P
VP4
S
P NP3 vgrp2 Pro
Verpl ‘ ij
That he won by ten points didn't surprise anyone

A.1:NP; 2: VP; 3:S; 4: VP
B.1:S;2: VP; 3: S’; 4: VP
C.1:NP; 2: VP; 3: S°; 4: AdvP
D.1:S; 2: AP; 3:S; 4: AP
ANSWER: A

PHAN TU LUAN (4.4 diém)
SECTION 3

Identify the different word-formation processes involved in producing each of the
underlined words in these sentences. (2 marks — 0.2 each)

Example: Could you please empty your bag?
Answer: conversion

Question 1: He had finally decided to rent a condo on the lake.

P4p an cau 1: clipping
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Question 2: Siskind encourages the children to emote to the music as they dance.
Dap an ciu 2: backformation

Question 3: The man behind the desk eyed us suspiciously.

Pap an cau 3: conversion

Question 4: Steve's doing a sixty-hour week at the moment - | never realized he could be
such a workaholic.

Pap an cau 4: blending

Question 5: Elijah passionately urges him to cultivate his destiny as a 21st-century
superhero.

Pap an cau 5: compounding

Question 6: On the other hand, aspirin is safer, cheaper, and more readily available than
most drugs.

Pap an cau 6: coinage

Question 7: They settled down on the sofa to watch the film.

Pap an cau 7: borrowing

Question 8: They were angered by what they perceived as disrespectful comments.
Dap an cau 8: derivation hoac affixation

Question 9: Many adults' skin problems begin with childhood sunburn.

Pap an cau 9: compounding

Question 10: | like to butter the toast

Pap an cau 10: conversion

SECTION 4

Determine the form (N, V, Adj, Adv, or Uninflected Words — UW), position (Nominal,
Verbal, Adjectival, Adverbial), and syntactic functions (Subj, DirObj, IndirObj,
PreObj, SubjComp, Mod...) of the underlined word in each of the following
sentences. (2.4 marks — 0.3 each)

Example: Max was struck by lightning.

Answer: Form: Noun Position: Nominal Function: PrepObj
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Question 1: A university is a community of scholars.

Pap an cau 1: Form: Noun phrase, Position: Nominal, Function: subject complement
Question 2: | declare this center open.
Pap an cau 2: Form: adjective, Position: adjectival, Function: Object complement

Question 3: Don’t forget what your mother said.

Pap an cau 3: Form: Noun clause, Position: nominal, Function: direct object
Question 4: He gave the pirate a chance.

Pap an cau 4: Form: noun phrase, Position: nominal, Function: Indirect object
Question 5: John bought a new car 3 days ago.

Dap an ciu 5: Form: verb, Position: verbal, Function: predicator

Question 6: The kid with green sneakers kicked the ball.

Pap an cau 6: Form: preposition phrase, Position: adjectival, Function: modifier

Question 7: He arrived in the nick of time.

Pap an cau 7: Form: prepositional phrase, Position: adverbial, Function: adjunct (of
time)

Question 8: That she won the first prize was surprising.

Pap an cau 8: Form: noun clause, Position: nominal, Function: Subject

Ngay bién soan: 10/10/2023
Giang vién bién soan dé thi: Nguyén Thi Thu Hang

Ngay kiém duyét: 25/10/2023
Ph6 Truéng Bé mén kiém duyét dé thi: TS. Nguyén Hoa Mai Phwong
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